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Outcome 1 - Drawing a Straight Line from a Table of Values

Bronze example Silver example Gold example
7 =3 x(-2) y=3x(0 2303 ) d ) 4 Complete the table f \\

Examples... ¥ %<2 v=3=O y=2-() Examples... Complete the table for Examples... Complete the table for

. y=2x+1 ==x-7

Complete the table for x| -2/ 0|3 yEExED g drawthe | x | B | O vaie2xa-r Y d gx he X 2|08

y = 3x and draw the line 6l olo9 v =2 =) line on the y=1-2x(0)-7 TJ:n rn:;‘re

on the grid below. 14 ye2x(@#)+1 gridbelow. (Y |9[1]9 y=1.2x@-7 |neonthe |y |-8|-7]-3

; I e 7 grid below.

1.5ub -2, 1.5ub -5, 1. Sub -2, 10

Oand 3 Oand 4 Oand 8

into the I into the / into the

equation equation equation

y=3x y=2x+1 y:%x_7

2.Plot the 1] 2.Plot the 1. 2. Plot the 1
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(-2,-6), (-5,-9), (-2,-8),

(0,0) (0,1) 0,-7)

and / and and
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Bronze Questions Silver Questions

w s
Complete the table of values for the ‘ Complete the table of values for the &

following equations and draw the following equations and draw the

corresponding lines on 10 x 10 corresponding lines on 10 x 10

coordinate grids. coordinate grids.

& Y=2x _a y = bx o Y=4x+h _a y=x+2
x[-3|0]| 4 x|-1]1 01 x|-3]0]|1 x |-8| 0| 4
Y Y Y Y

pc y = -4x _‘ y = 3-bx p< y=2-5x _‘ y=2bx-7

-11 0] 2 21012 -1(0]|2 x|-2|0| 4
Y y

Gold Questions

Complete the table of values for the D
following equations and draw the ‘
corresponding lines on 10 x 10 ha
coordinate grids.

1 2
- V=3x+5 _a y=3x—4
x|-9/ 0] 6 x[-3| 0| 9

Y Y
3 4
s V=3X+5 & y=5-3x
-4 0] 4 x |-3|] 0] 6
Y
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Bronze Answers

& y=2x & Y=5x
x|[-3| 0] 4 x|-1]1 0|1
y |-6| 0 y [-5/ 0] 5
P y:_4x ‘ y:3-5x
-1 2 X | -2 2
Y| 4 -8 y |-7 7

Silver Answers

&L Y=4x+5 & Y x+2
x|-3|0]|1 x|-8| 0
Y [-7| 5| 9 y |-6| 2
e Y= 2-Bx & y:-25x-7
-1 2 x|[-2/0]| 4
7 -8 y 10| -7| 3

Gold Answers

pi y=§x+5 & y=§x—4
x|-9/ 0| 6 x|-3| 0|9
y |2 7 y [-6]|-4| 2
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